# Some results of Heron mean and Young's inequalities 

Changsen Yang ${ }^{1 *}$ and Yonghui Ren ${ }^{1}$
"Correspondence:
yangchangsen0991@sina.com
${ }^{1}$ College of Mathematics and Information Science, Henan Normal University, Xinxiang, China


#### Abstract

In this paper, we will show some improvements of Heron mean and the refinements of Young's inequalities for operators and matrices with a different method based on others' results.


MSC: 15A15; 15A42; 15A60; 47A30
Keywords: Heron mean; Young's inequality; Operator inequality; Unitarily invariant norm

## 1 Introduction

For two positive numbers $a, b$ and $v \in[0,1]$, the quantity

$$
\begin{equation*}
F_{v}(a, b)=(1-v) \sqrt{a b}+v \frac{a+b}{2} \tag{1.1}
\end{equation*}
$$

is called Heron mean. And the inequality

$$
\begin{equation*}
a^{v} b^{1-v} \leq v a+(1-v) b, \quad a, b>0 \text { and } 0 \leq v \leq 1 \tag{1.2}
\end{equation*}
$$

is called Young's inequality. Even though these inequalities look very simple, they have attracted many researchers in this field, where adding a positive term to refine the inequalities is possible.

Heron mean is the interpolation between arithmetic and geometric means for $a, b \geq 0$ and $v \in[0,1]$. We can see papers [1, 2], and [3] for some new results about Heron mean and arithmetic-geometric mean.

The first refinements of Young's inequality is the squared version proved in [4]

$$
\begin{equation*}
\left(a^{v} b^{1-v}\right)^{2}+\min \{v, 1-v\}^{2}(a-b)^{2} \leq(v a+(1-v) b)^{2} . \tag{1.3}
\end{equation*}
$$

Later, the authors in [5] obtained the other interesting refinement

$$
\begin{equation*}
a^{v} b^{1-v}+\min \{v, 1-v\}(\sqrt{a}-\sqrt{b})^{2} \leq v a+(1-b) \tag{1.4}
\end{equation*}
$$

A common fact about refinements (1.2) and (1.3) is having one refining term.

In the recent paper [6], some reverses and refinements of Young's inequality were presented. It was proved that

$$
\begin{cases}a^{v} b^{1-v}+v(\sqrt{a}-\sqrt{b})^{2}+r_{1}(\sqrt[4]{a b}-\sqrt{b})^{2} \leq v a+(1-v) b, & 0 \leq v \leq \frac{1}{2}  \tag{1.5}\\ a^{v} b^{1-v}+(1-v)(\sqrt{a}-\sqrt{b})^{2}+r_{1}(\sqrt[4]{a b}-\sqrt{a})^{2} \leq v a+(1-v) b, & \frac{1}{2} \leq v \leq 1\end{cases}
$$

where $r_{1}=\min \{2 r, 1-2 r\}$ for $r=\min \{v, 1-v\}$. In the same paper, the following reversed versions were proved:

$$
\begin{cases}v a+(1-v) b+r_{1}(\sqrt[4]{a b}-\sqrt{a})^{2} \leq a^{v} b^{1-v}+(1-v)(\sqrt{a}-\sqrt{b})^{2}, & 0 \leq v \leq \frac{1}{2}  \tag{1.6}\\ v a+(1-v) b+r_{1}(\sqrt[4]{a b}-\sqrt{b})^{2} \leq a^{v} b^{1-v}+v(\sqrt{a}-\sqrt{b})^{2}, & \frac{1}{2} \leq v \leq 1\end{cases}
$$

where $r_{1}=\min \{2 r, 1-2 r\}$ for $r=\min \{v, 1-v\}$.
In this paper, our main results are to give refinements of Heron mean for scalars and matrices in Sect. 2; and in Sect. 3, in a different way, to get an operator version of (1.5), which is the refinement of (1.4). Besides, in the same section, the refinements of Young's inequalities for the Hilbert-Schmidt norm will be presented using the same technology as in Sect. 2.

For our convenience, we firstly give some denotations.
Throughout the paper, $H$ is a Hilbert space and $B(H)$ denotes the set of all bounded linear operators on a complex Hilbert space $H$. An operator $A \in B^{+}(H)$ is positive invertible if $(A x, x)>0$ for every vector $x \in H \backslash\{0\} . M_{n}$ denotes the space of all $n \times n$ complex matrices. The Hilbert-Schmidt norm of $A=\left[a_{i j}\right] \in M_{n}$ is defined by

$$
\|A\|_{2}=\sqrt{\sum_{i, j=1}^{n}\left|a_{i j}\right|^{2}}
$$

It is well known that the Hilbert-Schmidt norm is unitarily invariant in the sense that $|||U A V|||=||A|| \mid$ for all unitary matrices $U, V \in M_{n}$. What is more, we define

$$
\begin{aligned}
& A \nabla_{v} B=(1-v) A+v B, \quad v \in[0,1], \\
& A \not \sharp_{v} B=A^{\frac{1}{2}}\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{v} A^{\frac{1}{2}}, \quad v \in R
\end{aligned}
$$

denoted by $A \nabla B$ and $A \sharp B$, respectively, when $v=\frac{1}{2}$.

## 2 Main results

### 2.1 Refinements of Heron mean

Heron mean is defined by

$$
\begin{equation*}
F_{v}(a, b)=(1-v) \sqrt{a b}+v \frac{a+b}{2} . \tag{2.1}
\end{equation*}
$$

It is easy to see that $F_{\nu}(a, b)$ is an increasing function in $v$ on $[0,1]$ and

$$
\begin{equation*}
\sqrt{a b}=F_{0}(a, b) \leq F_{\nu}(a, b) \leq F_{1}(a, b)=\frac{a+b}{2} . \tag{2.2}
\end{equation*}
$$

Our purpose of this section is to give refinements of Heron mean for a scalar and some other auxiliary results.

Theorem 2.1 For $a, b \geq 0$, and $v \in[0,1]$, we have

$$
\begin{align*}
& \frac{1}{2} v(1-v)(\sqrt{a}-\sqrt{b})^{2}+\sqrt{a b} \leq F_{v}(a, b)  \tag{2.3}\\
& F_{v}(a, b) \leq \frac{a+b}{2}-\frac{1}{2} v(1-v)(\sqrt{a}-\sqrt{b})^{2} \tag{2.4}
\end{align*}
$$

where $F_{v}(a, b)=(1-v) \sqrt{a b}+v \frac{a+b}{2}$.

Proof Firstly,

$$
\begin{aligned}
& F_{v}(a, b)-\frac{1}{2} v(1-v)(\sqrt{a}-\sqrt{b})^{2} \\
& \quad=\frac{1}{2}(v a+v b+2 \sqrt{a b}-2 v \sqrt{a b})-\frac{1}{2}\left(v a+v b-2 v \sqrt{a b}-v^{2} a-v^{2} b+2 v^{2} \sqrt{a b}\right) \\
& \quad=v^{2}\left(\frac{a+b}{2}-\sqrt{a b}\right)+\sqrt{a b} \\
& \quad \geq \sqrt{a b} .
\end{aligned}
$$

Next, we also have

$$
\begin{aligned}
& \frac{a+b}{2}-\frac{1}{2} v(1-v)(\sqrt{a}-\sqrt{b})^{2}-F_{v}(a, b) \\
& \quad=\frac{1}{2}\left(a+b-v a-v b+2 v \sqrt{a b}+v^{2} a+v^{2} b-2 v^{2} \sqrt{a b}-v a-v b-2 \sqrt{a b}+2 v \sqrt{a b}\right) \\
& \quad=\frac{1}{2}\left[(1-2 v) a+(1-2 v) b-2(1-2 v) \sqrt{a b}+v^{2}(a+b-2 \sqrt{a b})\right] \\
& \quad=\frac{1}{2}(1-v)^{2}(\sqrt{a}-\sqrt{b})^{2}
\end{aligned}
$$

$$
\geq 0
$$

It is clear that $\frac{1}{2} v(1-v)(\sqrt{a}-\sqrt{b})^{2} \geq 0$, so (2.3) and (2.4) are refinements of (2.2).
With Theorem 2.1 in hand, we will give refinements of Heron mean for operators by the monotonicity property of operator functions.

Lemma 2.2 Let $X \in B(H)$ be self-adjoint, and let $f$ and $g$ be continuous real functions such that $f(t) \geq g(t)$ for all $t \in \operatorname{Sp}(X)$ (the spectrum of $X)$. Then $f(X) \geq g(X)$.

For more details about this property, the reader is referred to [7].

Theorem 2.3 Let $A, B \in B^{+}(H)$ be positive invertible operators, I be the identity operator, and $v \in[0,1]$, then we have

$$
\begin{equation*}
\nu(1-v)(A \nabla B-A \sharp B)+A \sharp B \leq F_{\nu}(A, B) \tag{2.5}
\end{equation*}
$$

and

$$
\begin{equation*}
F_{v}(A, B) \leq A \nabla B-v(1-v)(A \nabla B-A \sharp B), \tag{2.6}
\end{equation*}
$$

where $F_{v}(A, B)=v A \nabla B+(1-v) A \sharp B$.

Proof Let $b=1$ in (2.3) and expand the summand to get

$$
\begin{equation*}
\frac{1}{2} v(1-v)(a+1-2 \sqrt{a})+\sqrt{a} \leq \frac{1}{2} v(a+1)+(1-v) \sqrt{a} . \tag{2.7}
\end{equation*}
$$

Note that the operator $X=A^{-\frac{1}{2}} B A^{-\frac{1}{2}}$ has a positive spectrum, and by Lemma 2.2 and (2.7) we have

$$
\begin{equation*}
\frac{1}{2} v(1-v)\left(X+I-2 X^{\frac{1}{2}}\right)+X^{\frac{1}{2}} \leq \frac{1}{2} v(X+I)+(1-v) X^{\frac{1}{2}} . \tag{2.8}
\end{equation*}
$$

Finally, multiplying inequality (2.8) by $A^{\frac{1}{2}}$ on the left- and right-hand sides, we can get

$$
\frac{1}{2} v(1-v)(A+B-2 A \sharp B)+A \sharp B \leq \frac{1}{2} v(A+B)+(1-v) A \sharp B,
$$

which is equivalent to (2.5).
Using the same technique in (2.4), we can get (2.6). So we completed the proof.

Next, we will present the refinements of Heron mean for the Hilbert-Schmidt norm.

Theorem 2.4 Suppose $A, B, X \in M_{n}$ such that $A, B$ are two positive definite matrices for $0 \leq v \leq 1$, then we have

$$
\begin{align*}
& \frac{1}{2} v(1-v)\|A X-X B\|_{2}^{2}+\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}\right\|_{2}^{2} \\
& \quad \leq \frac{1}{2} v\|A X+X B\|_{2}^{2}+(1-2 v)\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}\right\|_{2}^{2} \\
& \quad \leq \frac{1}{2}\|A X+X B\|_{2}^{2}-\frac{1}{2} v(1-v)\|A X-X B\|_{2}^{2}-\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}\right\|_{2}^{2} . \tag{2.9}
\end{align*}
$$

Proof Replace $a, b$ by $a^{2}, b^{2}$ in (2.3) and (2.4), then we have

$$
\begin{align*}
& \frac{1}{2} v(1-v)(a-b)^{2}+\left(a^{\frac{1}{2}} b^{\frac{1}{2}}\right)^{2} \\
& \quad \leq \frac{1}{2} v(a+b)^{2}+(1-2 v)\left(a^{\frac{1}{2}} b^{\frac{1}{2}}\right)^{2} \\
& \quad \leq \frac{1}{2}(a+b)^{2}-\frac{1}{2} v(1-v)(a-b)^{2}-\left(a^{\frac{1}{2}} b^{\frac{1}{2}}\right)^{2} . \tag{2.10}
\end{align*}
$$

Since $A$ and $B$ are positive definite, it follows by the spectral theorem that there exist unitary matrices $U, V \in M_{n}$ such that

$$
A=U \Lambda_{1} U^{*}, \quad B=V \Lambda_{2} V^{*}
$$

where $\Lambda_{1}=\operatorname{diag}\left(\lambda_{1}, \lambda_{2}, \ldots, \lambda_{n}\right), \Lambda_{2}=\operatorname{diag}\left(v_{1}, \nu_{2}, \ldots, v_{n}\right), \lambda_{i}, v_{i}>0, i=1,2, \ldots, n$.

Let $Y=U^{*} X V=\left[y_{i l}\right]$, then

$$
\begin{aligned}
& A X-X B=U\left[\left(\lambda_{i}-v_{l}\right) y_{i l}\right] V^{*} ; \\
& A^{\frac{1}{2}} X B^{\frac{1}{2}}=U\left[\left(\lambda_{i}^{\frac{1}{2}} v_{l}^{\frac{1}{2}}\right) y_{i l}\right] V^{*} ;
\end{aligned}
$$

and

$$
A X+X B=U\left[\left(\lambda_{i}+v_{l}\right) y_{i l}\right] V^{*} .
$$

Now, by (2.10) and the unitary invariance of the Hilbert-Schmidt norm, we have

$$
\begin{aligned}
\frac{1}{2} & v(1-v)\|A X-X B\|_{2}^{2}+\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}\right\|_{2}^{2} \\
& =\sum_{i, l=1}^{n}\left\{\frac{1}{2} v(1-v)\left(\lambda_{i}-v_{l}\right)^{2}+\left(\lambda_{i}^{\frac{1}{2}} v_{l}^{\frac{1}{2}}\right)^{2}\right\}\left|y_{i l}\right|^{2} \\
& \leq \sum_{i, l=1}^{n}\left\{\frac{1}{2} v\left(\lambda_{i}+v_{l}\right)^{2}+(1-2 v)\left(\lambda_{i}^{\frac{1}{2}} v_{l}^{\frac{1}{2}}\right)^{2}\right\}\left|y_{i l}\right|^{2} \\
& =\frac{1}{2} v\|A X+X B\|_{2}^{2}+(1-2 v)\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}\right\|_{2}^{2} \\
& \leq \sum_{i, l=1}^{n}\left\{\frac{1}{2}\left(\lambda_{i}+v_{l}\right)^{2}-\frac{1}{2} v(1-v)\left(\lambda_{i}-v_{l}\right)^{2}-\left(\lambda_{i}^{\frac{1}{2}} v_{l}^{\frac{1}{2}}\right)^{2}\right\}\left|y_{i l}\right|^{2} \\
& =\frac{1}{2}\|A X+X B\|_{2}^{2}-\frac{1}{2} v(1-v)\|A X-X B\|_{2}^{2}-\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}\right\|_{2}^{2}
\end{aligned}
$$

So we finished the proof.

### 2.2 Refinements of Young's inequalities

It is well known that

$$
\begin{equation*}
a^{1-v} b^{v} \leq(1-v) a+v b, \quad a, b>0 \text { and } v \in[0,1] \tag{2.11}
\end{equation*}
$$

with equality if and only if $a=b$ is called Young's inequality.
An operator version of (2.11) in [7] says that

$$
\begin{equation*}
A \not \sharp_{v} B \leq A \nabla_{v} B \tag{2.12}
\end{equation*}
$$

for $A, B \in B^{+}(H)$ and $v \in[0,1]$. Kittaneh and Manasrah [5] gave a different type of improvement of Young's matrix inequalities:

$$
\begin{equation*}
2 r(A \nabla B-A \sharp B) \leq A \nabla_{v} B-A \not \sharp_{v} B \leq 2 s(A \nabla B-A \sharp B) \tag{2.13}
\end{equation*}
$$

for $A, B \in B^{+}(H), v \in[0,1], r=\min \{v, 1-v\}$, and $s=\max \{v, 1-v\}$.
Here, we give the first inequalities' refinements of (2.13). Before that, we need a lemma.

Lemma 2.5 ([8])

$$
A \nabla_{\mu}\left(A \sharp_{\nu} B\right)=A \nabla_{\mu \nu} B-\mu\left(A \nabla_{\nu} B-A \sharp_{\nu} B\right)
$$

for $0 \leq \mu, v \leq 1$ and $A, B$ are positive operators.

## Proof

$$
\begin{aligned}
A & \nabla_{\mu}\left(A \sharp_{\nu} B\right) \\
& =(1-\mu) A+\mu A \sharp_{\nu} B \\
& =A+\mu \nu B-\mu \nu A-\mu\left[(1-\nu) A+\nu B-A \sharp_{\nu} B\right] \\
& =A \nabla_{\mu \nu} B-\mu\left(A \nabla_{\nu} B-A \sharp_{\nu} B\right) .
\end{aligned}
$$

## Theorem 2.6

(1) If $0 \leq v \leq \frac{1}{2}$, then

$$
\begin{equation*}
2 r_{1}\left(A \nabla_{\frac{1}{4}} B-A \nVdash_{\frac{1}{4}} B\right)+\left(2 r-r_{1}\right)(A \nabla B-A \sharp B) \leq A \nabla_{v} B-A \not \sharp_{v} B . \tag{2.14}
\end{equation*}
$$

(2) If $\frac{1}{2} \leq v \leq 1$, then

$$
\begin{equation*}
2 r_{1}\left(A \nabla_{\frac{3}{4}} B-A \not \sharp_{\frac{3}{4}} B\right)+\left(2 r-r_{1}\right)(A \nabla B-A \sharp B) \leq A \nabla_{v} B-A \not \sharp_{v} B, \tag{2.15}
\end{equation*}
$$

where $r=\min \{v, 1-v\}$ and $r_{1}=\min \{2 r, 1-2 r\}$.

Proof For $0 \leq v \leq \frac{1}{2}$, then we have $0 \leq 2 v \leq 1$. Substituting $B$ by $A \sharp B$ and $v$ by $2 v$ in the first inequality (2.13), we have

$$
\begin{equation*}
2 \min \{2 r, 1-2 r\}(A \nabla(A \sharp B)-A \sharp(A \sharp B)) \leq A \nabla_{2 v}(A \sharp B)-A \sharp 2 v(A \sharp B) . \tag{2.16}
\end{equation*}
$$

By computing directly with Lemma 2.5, then we have

$$
\begin{equation*}
2 r_{1}\left(A \nabla_{\frac{1}{4}} B-A \not \sharp_{\frac{1}{4}} B\right)+\left(2 r-r_{1}\right)(A \nabla B-A \sharp B) \leq A \nabla_{v} B-A \not \sharp_{v} B . \tag{2.17}
\end{equation*}
$$

Exchanging $A$ for $B$ and $v$ for $1-v$ in (2.17) for $\frac{1}{2} \leq v \leq 1$, we get

$$
\begin{equation*}
2 r_{1}\left(A \nabla_{\frac{3}{4}} B-A \sharp_{\frac{3}{4}} B\right)+\left(2 r-r_{1}\right)(A \nabla B-A \sharp B) \leq A \nabla_{v} B-A \nVdash_{v} B . \tag{2.18}
\end{equation*}
$$

So we completed the proof.

Remark 2.7 Our inequalities (2.14) and (2.15) are stronger than the first inequality (2.13), that is,
(1) for $0 \leq v \leq \frac{1}{2}$,

$$
\begin{equation*}
2 r(A \nabla B-A \sharp B) \leq 2 r_{1}\left(A \nabla_{\frac{1}{4}} B-A \not{ }_{\frac{1}{4}} B\right)+\left(2 r-r_{1}\right)(A \nabla B-A \sharp B) ; \tag{2.19}
\end{equation*}
$$

(2) for $\frac{1}{2} \leq v \leq 1$,

$$
\begin{equation*}
2 r(A \nabla B-A \sharp B) \leq 2 r_{1}\left(A \nabla_{\frac{3}{4}} B-A \sharp_{\frac{3}{4}} B\right)+\left(2 r-r_{1}\right)(A \nabla B-A \sharp B), \tag{2.20}
\end{equation*}
$$

where $v \in[0,1], r=\min \{v, 1-v\}$ and $r_{1}=\min \{2 r, 1-2 r\}$.

Proof For $0 \leq v \leq \frac{1}{4}$, then $r=v, r_{1}=2 v$. So (2.19) is equivalent to

$$
\begin{equation*}
4 v\left(A \nabla_{\frac{1}{4}} B-A \not \sharp_{\frac{1}{4}} B\right) \geq 2 v(A \nabla B-A \sharp B), \tag{2.21}
\end{equation*}
$$

that is,

$$
\begin{equation*}
\frac{3}{2} A+\frac{1}{2} B-2 A^{\frac{1}{2}}\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{1}{4}} A^{\frac{1}{2}} \geq \frac{A+B}{2}-A^{\frac{1}{2}}\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{1}{2}} A^{\frac{1}{2}} \tag{2.22}
\end{equation*}
$$

So we only need to prove

$$
\begin{equation*}
I+\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{1}{2}} \geq 2\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{1}{4}} \tag{2.23}
\end{equation*}
$$

which is clearly true for $A, B$ are positive definite operators.
For $\frac{1}{4} \leq v \leq \frac{1}{2}$, then $r=v, r_{1}=1-2 v$. Equation (2.19) is equivalent to

$$
\begin{equation*}
2(1-2 v)\left(A \nabla_{\frac{1}{4}} B-A \not \sharp_{\frac{1}{4}}\right)+(2 v-1+2 v)(A \nabla B-A \sharp B) \geq 2 v(A \nabla B-A \sharp B), \tag{2.24}
\end{equation*}
$$

that is,

$$
\begin{equation*}
2\left(A \nabla_{\frac{1}{4}} B-A \sharp_{\frac{1}{4}} B\right) \geq(A \nabla B-A \sharp B) . \tag{2.25}
\end{equation*}
$$

By (2.21), we can prove (2.25) directly.
Similarly, we can prove (2.20).
For $\frac{3}{4} \leq v \leq 1$, then $r=1-v, r_{1}=2-2 v$. So (2.20) is equivalent to

$$
\begin{equation*}
(4-4 v)\left(A \nabla_{\frac{3}{4}} B-A \not \sharp_{\frac{3}{4}} B\right) \geq 2(1-v)(A \nabla B-A \sharp B), \tag{2.26}
\end{equation*}
$$

that is,

$$
\begin{equation*}
B+A^{\frac{1}{2}}\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{1}{2}} A^{\frac{1}{2}} \geq 2 A^{\frac{1}{2}}\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{3}{4}} A^{\frac{1}{2}} \tag{2.27}
\end{equation*}
$$

Multiplying by $A^{-\frac{1}{2}}$ on both sides and dividing by $\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{1}{2}}$, we get

$$
\begin{equation*}
\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{1}{2}}+I \geq 2\left(A^{-\frac{1}{2}} B A^{-\frac{1}{2}}\right)^{\frac{1}{4}} \tag{2.28}
\end{equation*}
$$

which is clearly true for $A, B$ are positive definite operators.
For $\frac{1}{2} \leq v \leq \frac{3}{4}$, then $r=1-v, r_{1}=2 v-1$. So (2.20) is equivalent to

$$
\begin{equation*}
(4 v-2)\left(A \nabla_{\frac{3}{4}} B-A \not \sharp_{\frac{3}{4}} B\right) \geq(2 v-1)(A \nabla B-A \sharp B), \tag{2.29}
\end{equation*}
$$

that is,

$$
\begin{equation*}
2\left(A \nabla_{\frac{3}{4}} B-A \sharp_{\frac{3}{4}} B\right) \geq(A \nabla B-A \sharp B), \tag{2.30}
\end{equation*}
$$

which can be got directly from (2.26).
Here, we should remind the readers that the reverse of Theorem 2.6 is stronger than (2.13) and only holds for $0 \leq v \leq \frac{1}{4}$ and $\frac{3}{4} \leq v \leq 1$ in Zhao and Li [8]. We also can see Zhao and Wu [6] for a different method to get Theorem 2.6.

Next, we will present refinements of Young's inequalities (2.14) and (2.15) for the Hilbert-Schmidt norm. Firstly, we give their scalar type inequalities. That is to say, for $0 \leq \nu \leq \frac{1}{2}$, we have

$$
\begin{equation*}
a^{1-v} b^{v}+v(\sqrt{a}-\sqrt{b})^{2}+r_{1}(\sqrt[4]{a b}-\sqrt{a})^{2} \leq(1-v) a+v b \tag{2.31}
\end{equation*}
$$

where $v \in[0,1], r=\min \{v, 1-v\}$, and $r_{1}=\min \{2 r, 1-2 r\}$.
Substituting $a$ by $a^{2}$ and $b$ by $b^{2}$ in (2.31) respectively, we get

$$
\begin{equation*}
\left(a^{1-v} b^{v}\right)^{2}+v(a-b)^{2}+r_{1}(\sqrt{a b}-a)^{2} \leq(1-v) a^{2}+v b^{2} \tag{2.32}
\end{equation*}
$$

that is,

$$
\begin{equation*}
\left(a^{1-v} b^{v}\right)^{2}+v(a-b)^{2}+r_{1}(\sqrt{a b}-a)^{2}+2 v(1-v) a b \leq((1-v) a+v b)^{2} . \tag{2.33}
\end{equation*}
$$

Similarly, for $\frac{1}{2} \leq v \leq 1$, we have

$$
\begin{equation*}
\left(a^{1-v} b^{v}\right)^{2}+(1-v)(a-b)^{2}+r_{1}(\sqrt{a b}-b)^{2}+2 v(1-v) a b \leq((1-v) a+v b)^{2} . \tag{2.34}
\end{equation*}
$$

Using the same method with Theorem 2.4 in (2.33) and (2.34), we can have the following results.

Corollary 2.8 Suppose $A, B, X \in M_{n}$ such that $A, B$ are two positive definite matrices, for $0 \leq v \leq \frac{1}{2}$, we have

$$
\begin{align*}
& \left\|A^{1-v} X B^{v}\right\|_{2}^{2}+r\|A X-X B\|_{2}^{2}+r_{1}\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}-A X\right\|_{2}^{2}+2 v(1-v)\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}\right\|_{2}^{2} \\
& \quad \leq\|(1-v) A X-v X B\|_{2}^{2} \tag{2.35}
\end{align*}
$$

for $\frac{1}{2} \leq v \leq 1$, we have

$$
\begin{align*}
& \left\|A^{1-v} X B^{v}\right\|_{2}^{2}+r\|A X-X B\|_{2}^{2}+r_{1}\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}-X B\right\|_{2}^{2}+2 v(1-v)\left\|A^{\frac{1}{2}} X B^{\frac{1}{2}}\right\|_{2}^{2} \\
& \quad \leq\|(1-v) A X-v X B\|_{2}^{2} \tag{2.36}
\end{align*}
$$

## 3 Discussion

In the theory of operators, the operator means and operator inequalities are two key concepts. An effective method to study operators is to find some refinements among some operator means, and these inequalities are usually based on scalars or matrices.

## 4 Conclusion

In order to better estimate the Heron mean, a refinement inequality about the classical interpolation between arithmetic mean and geometric mean by Heron mean is obtained, which is also applicable to establishing the inequalities for operators and matrices. Next an operator version refinement inequality about Young's inequality is also established, which is a generalization on the results obtained previously by Kittaneh and Manasrah [5]. It is worth noting that the inequality mentioned can also give the refinement inequality about Young's inequality, which was presented by Zhao and Wu [6].

## Funding

This research is supported by the National Natural Science Foundation of P.R. China (11271112; 11771126, 11701154), Innovation Scientists and Technicians Troop Construction Projects of Henan Province (114200510011),

## Competing interests

The authors declare that they have no competing interest.

## Authors' contributions

All authors contributed almost the same amount of work to the manuscript. All authors read and approved the final manuscript.

## Publisher's Note

Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.
Received: 28 March 2018 Accepted: 4 July 2018 Published online: 13 July 2018

## References

1. Liao, W., Wu, J.: Matrix inequalities for the difference between arithmetic mean and harmonic mean. Ann. Funct. Anal. 6(3), 191-202 (2015)
2. Bhatia, R.: Interpolating the arithmetic-geometric mean inequality and its operator version. Linear Algebra Appl. 413(2), 355-363 (2006)
3. Choi, D.I.: Inequalities related to Heron means for positive operators. J. Math. Inequal. 11(1), 217-223 (2017)
4. Hirzallah, O., Kittaneh, F.: Matrix Young inequalities for the Hilbert-Schmidt norm. Linear Algebra Appl. 308(1), 77-84 (2000)
5. Kittaneh F., Manasrah Y.: Reverse Young and Heinz inequalities for matrices. J. Math. Anal. Appl. 361(1), 262-269 (2010)
6. Zhao, J., Wu, J.: Operator inequalities involving improved Young and its reverse inequalities. J. Math. Anal. Appl. 421(2), 1779-1789 (2015)
7. Furuta, T., et al.: Mond-Pečarić Method in Operator Inequalities. ELEMENT, Zagreb (2005)
8. Zhao, X.H., Li, L., Zuo, H.: Further improved Young inequalities for operators and matrices. J. Math. Inequal. 11(4), 1023-1029 (2017)
```
Submit your manuscript to a SpringerOpen`
journal and benefit from:
- Convenient online submission
- Rigorous peer review
- Open access: articles freely available online
- High visibility within the field
- Retaining the copyright to your article
Submit your next manuscript at $ springeropen.com
```

